Scheierl Stand and More

the instructions inthe Spring issue, and additional modifications have been submitted by MDHA members George Lipinski and
Dale Schmidt, we have decided to rerun the plans.

Material List: Cut list: Procedure:
2- 4x4" x 10" treated A] 2- 4x4"x10' legs 1) Main legs measure down 35" or 48" attach top step
7-2x4" x 10' B] 2-2x4"x35" upright 2) Measure up 12" attach bottom step
1-2x6" x 6" tri 2-2x] ' 3) Space other steps evenly between top and bottom
2- 1x6"x8' tre ckin 2-2x " bra 4) Bolt top rail to inside of legs
4- 5/16x4" he bolts Top rail 3 5) Bolt top rail and floor rail in position
8- 5/16x6" hex bolts Floor s 26" 6) Adjust height of seat support to comfort level
2-5/16 5 1/2" hex head bolts G] Front rail 32" 7) Bolt bracing to align floor and top rail to 90
32- 5/16 flat washers H] Rear upright 35" or 48" 8) Screw decking to floor rail allowing space at back
16- 5/16" loc nuts | ] Seat deck support 38" 9) Notch back seat deck to align with tree/attach other
11/2 Ibs 3" deck screws t deck/w. 1 tree notch 10) Attach eye bolts to notched seat piece
1-3/16 x 48" 11) Attach chain to one eye bolt
1-3/16" x6'c 12) Paint screw heads with flat black paint

13)

14)

1 - turn buckl Chain may be combined with fock for security
2- 3/8"x6" eye To transport, remove bolt at upper end of bracing
to collape stand.

e = =
|<—— qgtseee = 55 32 'i

Rear upright

I
Front Rail

(Bolted to
outside of leg)

& Seat support
B 38°x2x4"allows 35"/48"
for tree notch ] ; i (48" for more

@_ Spacerbicicks E‘ concealment)

Floor Rail
(Bolted to inside of leg)

Seat/tree notch

(1- 2"cut out)
Eyebolts to attach
chain

10!

Bracing 2-2"x4"x58"

2"x4" steps attached wit
deck 6 -1 1/2"screws

Optional
Camo Blind:

Uprights 2-4"x4"x 10! Tools needed:

Note:Length of 4x4 Drill Silétc 2:48'x36 172"

may. modified for a Bits for bolt holes 5/16" 1-32"x48" front piece
taller or shorter stand Wrenches Bind seams with nylon
a 2x6" may be used. Phillips screw driver
Allow for more or less Scroll saw

material for steps G I

ENERAL

-Side View-

BY MIKEAmeKmer 201
= = = ] =

General Information

0

\}
U
L\
n
\]
/]
L\
U
L\




Scheierl Stand and More

Re-print permission for the Scheierl Stand obtained from the MN Deer Hunters Association.

These deer stand plans were originally run in the Spring 2003 Whitetales magazine. Because we inadvertently left out some of
the instructions in the Spring issue; and additional modifications have been submitted by - MPHA members George Lipinski and
Dale Schmidt, we have decided to rerun the plans.

Procedure:

Material List: Cut list:

- 4x4* x 10" treated

2x4" x 10 treated

2x6" x 8" treated
1x6°x8' Ireated decking
5/16x4" hex head bolts
- 5/16x6" hex head boits
- 5/16 5 1/2" hax head bolts
- §/16 fiat washars
S/18" lo¢ nuts

2 Ibs 3* dack screws
16 x 48" ¢chan

= 3/16"° x 6' chain

ﬁ’\)m‘.\?}}j“.lf\)

s

-

N

@

D) =t —d b b

Bracing 2-

-Side View-

Seat 3-2°x6"x 28 1/2

Pecking 6-1°x6"x26"

Al 2- 4x4"x10' legs

B] 2-2x4"x35" uprights
Cj 2-2x4"x38"

D] 2-2x4" x 58" bracing
E] Top & fioor rail 36°

F) Floor boards- 26"

G]) Front rall 32*

H] Rear upright 35 or 48°
| ] Seat dack support 38°

J ] Seat deck/w. 1 trae notch

{3-2x6" x-281/27)
K} 2- 3 1/2" x 3 1/2" spacers

- furn buckle or load binder with hook
~ 3/8°x6" eyebolts w. nuts and washers

Floor Reel

(Boded % insade ot l0g)

Scatiree nolch
(1- 2°cut out)

Eyobols o attach

X4 x58"

2'x4"-steps- attached wy
deck 6 -1 1/2"screws

Tools needed:
Onit
Bis for bolt holes 5/'16°
Wionchos
Phiips scrow driver
Scroll saw
Skofl Saw

SN0
Hammer

octside of g)

1)
3}
4)
5)
6)
7)
8)
9)

Main legs measura down 35° or 48° attach top step
Measure up 127 attach bottom step

Space other steps evenly between top and bottom
Boit top rail 10 inside of legs

Bolt top rad and foor rall in position

Adjust helght of seat support 1o comfon level

Bolt bracing o align floor and top rail to 90°

Screw decking to floor-rarl allowing space at back
Notch back seat deck to align with tree/attach other

10) Attach eye bolts to notched seat plece
1) Attach chain 1o one aye bolt
12) Paint screw heads with flal black paint
13) Chain may be combined with fock for socurity
4) To transport, remove bolt at upper end of bracing
10 collape stand.

P’Qi K 7 oy

Camo Blind:
Cut 2-48"36 v
plocos mateniad
1-32'248" front proce
Brd seams with ny'on
Craft Wreodd O hom
Uz $raps 10 $ocure
3 DiNG plecHs L0 e
* 350008 00 p

* 2 £naps On Botom

= =

General Information




Scheierl Stand and More

This section features several "home-made" deer stands.

When building a deer stand from scratch; insist on building one that is safe, comfortable and
affordable. Consider using some of the techniques used in the following deer stands:

Beef Eater Deer Stand

Thus deer stand was built in 2005 using all treated lumber. So far it is holding up to the weather

4

%

@

Sary

§
3
Ay

General Information



Scheierl Stand and More

2

ion

Beef Eater Deer Stand Vers

This Beef Eater deer stand was built in 2009.

Frontal shot.

General Information




Scheierl Stand and More

Side shot.

Traditional Deer Stand

A
.....

Common everyday deer stand built using all treated lumber-.

General Information




Scheierl Stand and More

This was my Tower deer stand. It didn’t stand a chance against 100 mile per hour straight line
winds in a devastating July 201 | storm. (Glad | wasn’t in it at the time it crashed.) You could
say; another one bites the dust.

- General Information



